Signature: S @) [ uBton /( e/»/

DO NOT OPEN THIS BOOKLET
UNTIL INSTRUCTED TO DO SO.

FINAL EXAM
ELEE 2335 .

December 12, 1986
INSTRUCTIONS:

1. 3ign your name on the upper left of this page.

2. All work is to be done in the spaces provided in this booklet. Use the
backs if necessary. Indicate clearly where your work and answers may be
found. Enclose your final answers in a box. No credit will be given unless
the necessary work is shown. No crib sheets are allowed.

3. Make sure that some kind of clear distinction is obvious between complex
quantities (phasors and impedances) and time domain functions. Underlined
symbols, lines over symbols, or any other clear method will be acceptable.
Show all of your units explicitly, both in your final answer and in your
intermediate steps. Units in exam questions are placed within square
brackets.

4. If your answers and work are not in ink, there will be no provision for
changing your grade once thelfexam is returned to you. Do not use red ink.
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1. (14 Points) How much power is absorbed by each of the five elements in
this circuit?
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2. (16 Points) Determine the values of iy, 14 is, I, and Vgo in the following
circuit. Do not use the node voltage method or the mesh current method.
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3. (30 Points) For the following circuit, determine the Thevenin equivalent
with respect to terminals @ and (B). Simplify the circuit first using
source transformations. 2
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ROOM FOR EXTRA WORK
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4. (24 Points) In the circuit below, the following information is given.
Vg = 0[V]; for t < 1[sec]

Vgy = 10[V]; for t > 1[sec]

ve(t) = O[V]; for t < 1[sec]

Find ve(t) for t > 1[sec].
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5. (19 Points) In the circuit shown, the switch is closedat t = 0.
Determine ve(t) for t 2 0. It is known that ve(0) = SO[V]
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6. (28 Points) a) Draw the following circuit in the phasor domain, and then
write the equations that would be needed to solve this problem using the

node voltage method. Do not solve. . :
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6. (continued) b) Draw the following circuit in the phasor domain, and then
write the equations that would be needed to solve this problem using the
mesh current method. Do not solve.
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7. (50 Points) The circuit below is gtven in the time domain.
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7. (continued)
b) Determine the values of the phasors 1, 1o, and |z.
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7. (continued)

c) Determine the complex power delivered by each source and the total
delivered power. Also, calculate the average and reactive power consumed
by each of the wzf?swe components.
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8. (19 Points) In the circuit below, the load absorbs 230.51 [VA] at a
leading power factor of 0.6247. Find the magnitude and the phase of the
voltage source, Vg (pMs).
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